
1) A number was shared in the ratio 
4:1. The smaller share was 28. What 
was the total amount shared?

Answer: ____________

2) An amount was decreased by 2% to 
$318.00. Find the original amount.

Answer: ____________

3) (-30) - (-11)

Answer: ____________

4) (6 x 22) + (6 x 1-4)

Answer: ____________

5) 4/8 + 15/9

Answer: ____________

6) 'What is the probability of rolling a 
even prime number.when rolling a dice

Answer: ____________

7) Write 1 x 108 as a normal number.

Answer: ____________

8) (-44) ÷ 11

Answer: ____________

9) 15/
4 ÷ 18

/1

Answer: ____________

10) 15/
4 ÷ 18

/1

Answer: ____________

11) 13/9 x 15/5

Answer: ____________

12)
64

1 /3

Answer: ____________

13)

A B = 10
Find the Angle at side A.

Answer: ____________

14) (4 x 1-4) x (1 x 75)

Answer: ____________

15) Round 29.5274 to the nearest 10

Answer: ____________
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16) Find area of square 
having each side (s)
equals 22 ft

Answer: ____________

17) Factorise 5d2 + 14d + 9

Answer: ____________

18)

'Name the type of angle.

Answer: ____________

19) Find the percentage change from 10 
to 14

Answer: ____________

20) Find the percentage change from 10 
to 14

Answer: ____________

Total: ___ / 20
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Answers:

1) 140 2) $311.64 3) -19 4) 30 5) 21/6 6) 1/6 7) 100000000

8) -4 9) 5/24 10) 5/24 11) 41/3 12) 4 13) 170 14) 67228

15) 29.5 16) 484ft 17) (5d + 9)(d + 1) 18) Straight 19) 40% 20) 40%
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